CLASSWORK 14, February, 4 2018

Rational number is a real number that can be written as a simple/irregular fraction, i.e as a
. a
proportion 5

A rational number is a reoccurring decimal. Can be proved using remainder and Pigeonhole
principle.

Decimal fractions:
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Find simple fractions for0.3, 0.71,
0.3 = x, multiply by 10.
3.3=10x - 3+0.3=10x > 3+x = 10x
Equations:
3 1 3x+2a
8 3 2a—-5x
Operations with powers: a =a - a---- a(ntimes)

(a-b)* =a™-b"

am - gt = gmtn.

am = gt = gm—"n
a®=1

n 1
at=—



HOMEWORK 14,
February, 4 2018

1. Simplify the following and show the answer in the exponent form

3727 6%-2% 7925

a) 23.24- - b) 35.22 - C) 72.24— -

11* . 37527

d) —112_52_53 = e)7%-114-117> -7 = f) 3394
422 _ 35.3—5 _ . xz,yz,x—s _
g) 62 - h) 39 - I) xz -

2. Find a simple fraction form for the following repeating decimals:

a)0.6 b)0.7 c)0.8

3. Find the area.....

In the picture four squares are shown and the

lengths of their sides are indicated. What is the 11
difference between the combined area of the ‘
shaded regions and the combined area of the

black regions?

4. Find the area.....
John has a chocolate bar consisting of square pieces
1 cm x 1 cm in size. He has already eaten some of 11 em
the corner pieces (see the picture). How many ‘

| em

pieces does John have left?

6 cm

fcm

A new chess piece Kangaroo jumps 3 squares
vertically, 1 horizontally, or 3 squares
horizontally, and 1 vertically. What is the
minimum number of moves the kangaroo needs
to make in order to get from red square to A?
You may choose color pencils to show.




